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= 63,793,737
s 369,734
s 12,039,135
Al 16,415,434
ZoHe! SXLAel K& 1,554,770 1,349,783 204,987
= 777,390
= 310,950
Al 466,430
307 @120l & 1,554,770 1,349,783 204,987
= 777,390
= 310,950
Al 466,430
11 AMEISXAIEEXS 1,554,770 1,349,783 204,987
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= 777,390
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= 1,182,970
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= 1,179,625
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= 1,179,625
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= 3,345
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= 3,345
=S 1,350
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= 280,940
=S 112,380
Al 168,560
101 ©1AH| 560,284 532,008 28,276
= 280,142
= 112,057
Al 168,085
04 JIZtN22 XS 2+ 560,284 532,008 28,276
OFOH! AIZEMIE el XI& 560,284
= 280,142
= 112,057
Al 168,085
201 er2 3| 1,59 1,554 42
= 798
= 323
Al 475
01 At2teltl 1,59% 1,554 42
OFONL! AIZFMZ XSl X2 1,5%
= 798
< 323
Al 475
AZIEOHQ! CFOFAF TFA ALY 335,570 273,343 62,227
= 268,380
< 26,890
Al 40,300
307 glztol & 335,570 273,343 62,227
= 268,380
== 26,890
Al 40,300
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= 268,380
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MNasSgojel &= 2iel N 233,000 230,000 3,000
307 glztol & 233,000 230,000 3,000
05 2ItRIE = 233,000 230,000 3,000
OMASEL XEE Ll NS 233,000
USRI WP 44,400 34,961 9,439
= 35,520
S 3,552
Al 5,328
301 LEtE NS 44,400 34,961 9,439
= 35,520
< 3,552
Al 5,328
01 AR 2EHSHS(RDNEXRTHE) 44,400 34,961 9,439
OFOMAERI|F w= 44,400
= 35,520
s 3,552
Al 5,328
ZOoHe! 2AZHIXIE 540,502 851,978 A311,476
= 432,402
s 75,670
Al 32,430
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= 432,402
= 75,670
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= 131,412
< 78,847
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= 131,412
=S 78,847
Al 118,273
11 AMISXIAIEEX 328,532 321,660 6.872
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= 131,412
= 78,847
Al 118,273
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< 11,664
Al 27,216
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< 11,664
Al 27,216
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Al 10,462
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Al 10,462
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= 11,880
= 1,527
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SHTA HEAIXIA) 3,000
OFFAl BOH 2XSANHE L ST
ML= SHAPATFAIXIL) 3,000
OBOHRHASH 220 S2I0188 KA ((AH)
SIRFIQIL RS MEXR) 3,000
OS2 ot2L(0t22) 4,000
OLLHIIIE UERD HES SIst FA
SOl H(MFAIRNALDS) 5,000
OLLHINIE SR (HEAIZHALD
3l) 5,000
OB ZE OIS "HA0EH" () 3,500
OWEEr E8II2 2I|E LIARN(HSXER
SEWEPEPERED 2,000
OFFAl MEE 183l 0122 02 0IE!(
A EEES TN KHR) A4 ZHO1TH) 2,000
O1S HFAI, KIS SIBH = (ANF=0
STOHQICITH) 5,000
HZFAl FHOHQIEHH S018t3] 31,212 3,000 A788
307 21201 X 31,212 32,000 A788
03 QIIEHNHE2EHIE X 31,212 32,000 AT788
OFFAl BOHQICH B0i8tal 29 31,212
DOHQICHH AFRA X2 41,400 46,000 14,600
307 21201 & 41,400 46,000 14,600
03 ERICHHE B2 2 X 41,400 46,000 14,600
OFOHAISHH AFRA X2 41,400
Z0HeIo] & AL 19,000 16,000 3,000




S BOIQI=X D
. ZOje =X S8
el ZoHe! EHH X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 19,000 16,000 3,000
11 AMEISXAEEES 19,000 16,000 3,000
ON442l o1l & JIS-AL 19,000
ZoHe! AEgM=Uz= 16,300 13,000 2,300
307 gl2to| & 15,300 13,000 2,300
1 AMISXAIEEXS 15,300 13,000 2,300
ol HEH=U 15,300
U EHZA JI=sX2HEH 2 202,045 173,412 28,633
& 54,552
Al 147,493
307 elztol & 202,045 173,412 28,633
S 54,552
Al 147,493
10 Al SXAIEEHE2EHI 22X 202,045 173,412 28,633
OXOHAEASA JI=X3HH 24 202,045
= 54,552
Al 147,493
NEZOQ THEXNZHE =29 158,535 185,009 3,526
== 31,707
Al 126,828
307 212+01& 158,535 185,009 3,526
[ 31,707
Al 126,828
10 Al2ISTIAIEEE 22X 168,535 185,009 3,526
OXIHEH! NHSAZ2HEH 2 168,535
= 31,707
Al 126,828
AZEO0HS! BXtu S 9,690 12,468 N2,778
S 2,907
Al 6,783
307 @I2to1 & 9,690 12,468 N2,778
== 2,907
Al 6,783
11 AMRISXAEEES 9,690 12,468 N2,778
OAIZIH 0! BXtu= 9,690
< 2,907
Al 6,783
HEZ0e wsX= 50,022 48,971 1,051
= 35,015
< 6,003
Al 9,004
307 elztol & 50,022 48,971 1,051




A HOHISKIN
. ZOje =X S8
el ZoHe! EhHl X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 35,015
=S 6,003
Al 9,004
11 ARRIS XA E X 50,022 48,971 1,051
O0EZMe WAL 50,022
= 35,015
= 6,003
Al 9,004
Zope! ofstnl 2 K& 122,000 122,000 0
== 36,600
Al 85,400
307 212+01& 122,000 122,000 0
< 36,600
Al 85,400
11 AMEISXAEEES 122,000 122,000 0
OH0He! Orstn 2 A& 122,000
= 36,600
Al 85,400
Al =0 =22HH H 18,000 18,000
307 @20l & 18,000 18,000
1 AMISXAIEEX 18,000 18,000
OTFAl =0 =22tHl = 18,000
XS NEE SZME(E 0L 19,500 0 19,500
< 19,500
402 2I2FX=01 & 19,500 0 19,500
=S 19,500
02 QI X2 AL EE(OIHTHE) 19,500 0 19,500
ONEHM usd sFHd 19,500
= 19,500
e =SXAlE K& 22,777,316 20,111,540 2,665,776
= 8,182,288
Il 1,000,000
= 4,180,491
Al 9,414,537
SIRAANE 2SN 2,875,000 2,731,429 143,571
= 2,012,000
< 863,000
307 @20l & 2,875,000 2,731,429 143,571
= 2,012,000
= 863,000
10 Al SXAEEE 22X 2,875,000 2,731,429 143,571
OFAMURAAIE 23| 2,875,000
= 2,012,000




2A:
X XH -
o e

=aak

ZOHR!I= Xl
el =X s8

el SXAIE X

SA - ZE - BR(30) - HRA - B of v e HIDE2

| & 863,000

HRQAANE S 71,640 70,560 1,080
== 21,492
Al 50,148

301 2eEN= 71,640 0 71,640
< 21,492
Al 50,148

02 A2l 28H 71,640 0 71,640
OZRILA 71,640
= 21,492
Al 50,148

SARAAE HEZZ IS XA 10,755 11,997 A1,242
=S 3,227
Al 7,528

307 21201 & 10,755 11,997 A1,242
S 3,227
Al 7,528

11 A2l S XIAF 10,755 11,997 A1,242
OFLRAAl 10,755
= 3,227
Al 7,528

SHAIRAAE HEQ 2,249 2,222 27
= 674
Al 1,575

307 @120l & 2,249 2,022 27
s 674
Al 1,575

11 MBS XA 2,249 2,222 27
OFLRAAI 2,249
< 674
Al 1,575

SRAANE JIsE 2,141,848 0 2,141,848
= 1,427,890
[ 713,949

402 212tXH=0] 2,141,848 0 2,141,848
= 1,427,899
= 713,949

02 QI A2 AIE 2 (0l 2,141,848 0 2,141,848
OFAR A 2,141,848
= 1,427,899
= 713,949

ZOHQ AHFAIE 4,805,345 4,568,023 297,322
= 3,623,129




2A:

X XH -
o=

ZOHR!I= Xl
el =X s8

el Zojel SXIAE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 310,554
Al 931,662

307 lztol & 4,865,345 4,568,023 297,322
= 3,623,129
== 310,554
Al 931,662

10 Al2ISTIAIEEE 22X 4,865,345 4,568,023 297,322
Ol HFAE 28 X 4,865,345
= 3,623,129
=S 310,554
Al 931,662

el F=UESAIE 29 3,135,380 2,811,426 323,954
< 642,420
Al 2,492,960

307 glztol & 3,135,380 2,811,426 323,954
= 642,420
Al 2,492,960

10 Al SXAAEEHE2EHI2x 3,135,380 2,811,426 323,954
OFML! F=UESAE 2 3,135,380
= 642,420
Al 2,492,960

0Kl Or2t =SAIE 313,000 315,000 /2,000
< 62,600
Al 250,400

307 212+01& 313,000 315,000 22,000
& 62,600
Al 250,400

11 AMEISXAEEXS 313,000 315,000 22,000
OZ 0! Ot SSAY 313,000
= 62,600
Al 250,400

el ssdEEIHE =9 283,230 270,350 12,880
s 28,323
Al 254,907

307 @I2t01 & 283,230 270,350 12,880
[ 28,323
Al 254,907

10 AlRISTIAIEEE 22X 283,230 270,350 12,880
o2 ssdaitd 29 283,230
= 28,323
Al 254,907

e HIIESAIE 2Y 473,085 451,235 21,850
= 94,617




2A:

E M

ZOHR!I= Xl
el =X s8

Rl ZoHe! SXAE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 378,468
307 gl2tol & 473,085 451,235 21,850
=S 94,617
Al 378,468
10 Al SXA2EE 22X 473,085 451,235 21,850
OFOQ EDIESAIE 29 473,085
< 94,617
Al 378,468
Z0He! SXAIE SAHL SE+2 416,000 340,000 76,000
= 124,800
Al 291,200
301 EtE N = 416,000 0 416,000
= 124,800
Al 291,200
02 A EE A S(FANE, XLTHE) 416,000 0 416,000
O SXAE SAHL SE+& 416,000
== 124,800
Al 291,200
ol UM HEgs 24 647,600 629,900 17,700
307 glztol & 647,600 629,900 17,700
11 AMEISXAEEE 647,600 629,900 17,700
O AEHME HEE 2| 506,480
O NEHYE HES 2=l 141,120
ZoHeI=s X2 23| 1,515,000 1,485,000 30,000
s 303,000
Al 1,212,000
307 @I2t01 & 1,515,000 1,485,000 30,000
< 303,000
Al 1,212,000
10 Al2IS XA EEE 22X 1,515,000 1,485,000 30,000
oZe=sX2 24| 1,615,000
= 303,000
Al 1,212,000
el HE=S=EY 29 122,000 120,000 2,000
307 el2to| & 122,000 120,000 2,000
05 212+ =S 122,000 120,000 2,000
oLl =Y 2Y 122,000
ol =0 SHde 29 400,000 344,000 56,000
< 71,000
Al 329,000
307 212+01& 400,000 344,000 56,000
& 71,000




2A:

X XH -
o=

ZOHR!I= Xl
el =X s8

=2l HOoHe! SXAIE X (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

Al 329,000

10 Al S XA EEHE2IHIE X 400,000 344,000 56,000
O =USHHH 24 400,000
T 71,000
Al 329,000

ZOHQl ME Ol KI2MEH 29 292,000 286,000 6,000
= 58,400
Al 233,600

307 212+01 A 292,000 286,000 6,000
& 58,400
Al 233,600

10 Al S XA EEHE2IHIE X 292,000 286,000 6,000
OXFOHe! & 0l KNJME 2 292,000
& 58,400
Al 233,600

AL EOHON(E ) EM2 2H 169, 100 164,000 5,100
= 84,550
Al 84,550

307 2I2+01A 169, 100 164,000 5,100
= 84,550
Al 84,550

11 AR SXAMEES 169, 100 164,000 5,100
OAIZEOCHEI) A2 2Y 169,100
& 84,550
Al 84,550

ool HATHEAIL 29| 1,730,140 1,458,360 271,780
& 346,028
Al 1,384,112

307 QIZt01 A 1,730,140 1,458,360 271,780
= 346,028
Al 1,384,112

10 AISISXAEHE2ZHIER 1,730,140 1,458,360 271,780
OOl ANATHEAIE 2SI 1,730,140
& 346,028
Al 1,384,112

ZOHR! HATHEAIL JIsES 450,000 0 450,000
= 225,000
& 157,500
Al 67,500

402 QI2E X201 ™ 450,000 0 450,000
= 225,000
= 157,500
Al 67,500




2A:

X XH -
o=

ZOHR!I= Xl
el =X s8

el Zojel SXIAE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

02 QI X2 AL EE(OIETHE) 450,000 0 450,000
O MNAMEAE JIs2H 450,000
= 225,000
< 157,500
Al 67,500

O H=AIE SIIEED| eE X 2,100 4,102 22,002
= 1,260
S 252
Al 588

307 212+01& 2,100 4,102 22,002
= 1,260
=S 252
Al 588

02 QB AANEER 2,100 4,102 22,002
OFZOMAANFAIE S0I1FFHD| dE X 2,100
= 1,260
= 252
Al 588

Al SOHAMFSAME HE 1,000,000 0 1,000,000
Jl 1,000,000

401 AlZHIZ S 0HbI 1,000,000 0 1,000,000
) 1,000,000

01 Al&HI 1,000,000 0 1,000,000
O&HFAl ZUHAUMSSIIME AE 1,000,000
Il 1,000,000

O HZF=AIE CCTV elEH] XI& 684 1,140 A456
[ 205
Al 479

307 glztol & 684 1,140 A456
= 205
Al 479

11 AMEISXAIEEE 684 1,140 N45%6
OHOHIHFAIE CCTV el XA 684
= 205
Al 479

O HFAIE ElxXt XES X 20,000 110,000 /90,000
== 6,000
Al 14,000

307 212+01& 20,000 110,000 A90,000
< 6,000
Al 14,000

11 AMEISXAEEES 20,000 110,000 290,000
OFOMANFAIE EAX NE= N2 20,000




2A:

E M

ZOHR!I= Xl
el =X s8

el Zojel SXIAE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,000
Al 14,000
ARISXIAL SX2tE K& 69,000 74,700 25,700
307 el2to| & 69,000 74,700 25,700
1 AMEISXAIEEXS 69,000 74,700 A5,700
OAIS XA SXI2tE X1 69,000
ZOHASXAIE dHSH 960,000 960,000 0
= 864,000
= 67,200
Al 28,800
301 LEtE N = 960,000 960,000 0
= 864,000
S 67,200
Al 28,800
01 Al EE AT Z(ZRDEZMR) 960,000 960,000 0
OFMA=SKAIE HAHSN 960,000
= 864,000
[ 67,200
Al 28,800
0 S AL £X XA 400,000 800,000 A400,000
401 AlEHIZ 201 400,000 800,000 A400,000
01 Al&H| 400,000 800,000 400,000
Ol S H2AAIE &R K& 400,000
ZeIF2tESAIE JIsE2 58,000 71,358 13,358
= 29,000
= 8,700
Al 20,300
402 212t X+=01 ™ 58,000 71,358 A13,358
= 29,000
< 8,700
Al 20,300
02 QI X2 AL EE(0IETHE) 58,000 71,358 13,358
OZMAU=AESAIL JISEZ 58,000
= 29,000
< 8,700
Al 20,300
OIHEAANE dE2ot3l9l 29 2,160 2,400 2240
201 er23| 2,160 2,400 A240
01 At2teltl 2,160 2,400 A240
OHMAEAANE H2It3]9 =Y 2,160
XL =EXNE FX U2 HE 320,000 0 320,000
=S 180,000
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